I
— ]  ——{—mm R — o — e o —

Intake Installation Instructions P/N 9924

Year/Make/Model/Engine
fits ’05-’09 Ford Mustang 4.6L

50 State Legal / C.A.R.B. Exempt #D-629-1
‘05-’07 models only - except for ‘07 vehicles
with Test Group # 7FMXV04.6VBB - see
underhood emission sticker on vehicle.

Tools Required:
Screw driver

Phillips screw driver Parts List

Socket wrench 1- Intake Tube

10mm socket 1- Intake Tube - short bend

13mm socket 1- Air filter

8mm wrench 1- Oval coupler

13mm wrench 1- PCV adapter tube 1- Rubber mount
T20 torx 1-4” coupler 3-8mm lock nuts

3- 8mm fender washers

4- 4” hose clamps 1- M8x20mm hex bolt

1- 5” hose clamp

For filter reorders ask at the 1- Heat shield 2- Machine screws
special order counter of y?ur 1- Heat shield bracket g mg aIIer;‘boIts
local parts store or call: 1- Rubber liner - M5 washers

1-800-821-4868 . . 5- M5 lock nuts
ask for P/N 889882 1- MAF sensor calibration insert 1- M5 hex tool

Step 1

Safety first! Before you
begin the installation, make
sure that the vehicle is in
park with the parking brake
set. Disconnect the negative
battery terminal and verify

all components listed are Step 2
present. Disconnect the PCV tube from the intake by pushing on the green tab and

pulling the tube off. Disconnect the MAF sensor connector by sliding the
red clip away from the tube and pulling the connector off of the sensor.




Step 3
Loosen the hose clamp on the intake tube at the throttle body. Remove the
bolt on the air box housing, near the fender. Set the bolt aside for later use.

Step 4
Remove the intake and air box assembly and set it aside. Remove the plastic cover by
loosening the two bolts shown.

TRl

Step 6 Step 7

Remove the bolt shown in the Unlatch clip shown and slide counterclockwise to unlatch the
picture and set it aside for later connector. Move the connector to the side and remove the bolt
use. shown in the picture. Set it aside for later use.

DO NOT USE

THIS HOLE (IF
PRESENT) —— 9=

Step 8 Step 9

Using the supplied M5 Alllen bolts, M5 flat washers and the M5 Install the rubber liner on the heat
lock nuts, assemble the heat shield as shown. Tighten using the shield as shown (black arrows).
supplied M5 Allen tool and an 8mm wrench Install the rubber mount, using the

supplied fender washer and lock nut,
in the hole as shown (white arrow).



~g, =
) € Supplied
+ hardware

a
4

Bolt from

. Bolt, g~ 2
p# from | & ‘
N step6 ¢ \
E , \r A T o

Step 10

Using the bolt removed in step
7, install the lower heat shield
bracket as shown. Leave the
bolt loose at this time.

Step 12
Reinstall connector and slide
latch clockwise to secure.

Step 11

Install the heat shield and secure
it using the bolts removed in
steps 3 & 6, and the supplied
8mm bolt, fender washer and
lock nut as shown. Fully tighten
all mounting hardware.

Step 13

Install the PCV fitting into the
oval boot from the inside.
Ensure that it is completely
seated in the boot.

©2008 = | —

Step 14

Install the 5” hose clamp on the
oval side of the coupler. Install
the coupler onto the throttle
body with the PCV tube pointing
toward the passenger side. Fully
tighten the clamp.

Step 15
Remove the mass air flow

sensor from the stock intake
tube.

Step 16

Install the sensor in the new
intake tube using the supplied
Phillips head screws.

@008 T = 1 ree=
- _

Step 17

Step 18
Place a 4” hose clamp on the Insert the MAFS calibration tube
throttle body coupler and install as shown.

the new intake tube as shown.
Snug up, but do not fully tighten
the hose clamp at this time.




& _ Slide bracket
over stud
%

Step 19 Step 20

Install the 4” coupler with two 4” |nsert the short intake tube into the coupler. Slide the bracket over
hose clamps. With the coupler  the stud on the rubber mount. It may be necessary to move the
installed half way onto the tube, |ong tube in the throttle body coupler to allow for a proper fit. Once
fully tighten the clamp which is  tube is in place, ensure that it is fully inserted in the coupler and
over the tube. Leave the second fylly tighten the hose clamp. Fully tighten the clamp on the throttle
clamp loose at this time. body coupler as well.

Step 21 Step 22 Step 23

Place a 4” clamp on the air filter Secure the intake to the rubber Reinstall the PCV fitting, ensuring that
and install it onto the intake mount using a fender washer it is completely inserted with the green
tube. Fully tighten the clamp. and lock nut. tab in the secured position.

©2008

B____:.'?P:I— ] RI: /

Step 24 Step 25 Step 26

Reinstall the MAFS connector. Reinstall the plastic cover using Ensure that all hardware and
the factory hardware. hose clamps are fully tightened.
Reconnect battery. The
Step 27 If you have any difficulties or installation should look like this.
Start vehicle and let questions regarding the installation
warm up. Shutoffand  ©Of this intake system, contact the Product Info:
inspect the installation Spectre Performance Technical Performance Air Induction
once more for any loose Department by email - Tech@ System P/N 9924
clamps or hardware. spectreperformance.com or by
Test drive & enjoy! phone 1-800-821-4868 Monday thru _."
Thursday 6:00am to 4:30pm PST. Srreen) BY S 1 e,

(909) 673-9800

©2010 SPECTRE PERFORMANCE Made in China (P) REV. 3/10 .spectreperformance.com



	9924narrow 4.pdf
	9924narrow 1.pdf
	9924narrow 2.pdf
	9924narrow 3.pdf

